HVABRIR T X VA AN Ry iR R

P 1

v hNO  AEMPIS Bms  ryby/Atk
Sabinene SR V2 14.500%
Cineole 1.8 VXAV 1.8 11.800%
Terpinen—4-OL TIVE R —4-0l 7.200%



HVABRIR T X VA AN Ry iR R

P2

7y hNO  AEMPHS

w4 ryby/ Ak

v —Terpinene
Cineole 1.8
Terpinen—4-OL
o —Cymene

Sabinene

y =TI R
VAA=IV 1.8
7IVE R ~4-0l
o—VA/
Ferv

14.900%
13.300%
13.100%
13.100%
10.400%



HVABRIR T X VA AN Ry iR R

P 3

2ykhNO  AEMPGS

w4 ryby/ Ak

Sabinene

v —Terpinene
Cineole 1.8
Terpinen—4-OL

o —Cymene

Fet

y =TIERY
VAA—L 1.8
FIVE R —4—0l

o —Vr/

16.600%
14.500%
13.100%
12.600%
10.600%



P 4

HVREE oYV A AV RS S ks R
v hNO  AEMPFS Bms  ryby/Atk
o —Cymene o0 —VA/ 18.200%
v —Terpinene v =T IVE Ry 15.100%
Terpinen—4-OL TIVE R —4-0l 9.300%
Cineole 1.8 VXAV 1.8 9.200%
Sabinene A V2 8.600%



HVABRIR T X VA AN Ry iR R

P 5

2y hNO  AEMAQS M4 ryby/ ARk
Cineole 1.8 YAA—V 1.8 13.100%
Terpinen—4-OL FIVE R —4—0l 13.100%
Sabinene SR V2 10.400%



HVABRIR T X VA AN Ry iR R

P 6

v hNO  AEMABS Bms  ryby/Atk
Cineole 1.8 YAA—V 1.8 13.100%
Terpinen—4-OL FIVE R —4—0l 13.100%
Sabinene SR V2 10.400%



HVABRIR T X VA AN Ry iR R

P 7

v hNO  AEMAAS Bms  ryby/Atk
Cineole 1.8 YAA—V 1.8 13.100%
Terpinen—4-OL FIVE R —4—0l 13.100%
Sabinene SR V2 10.400%



